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Topic:- GENERAL HINDI

1) 'St 3FHRVT P UNY g7 b QU Weg qaTSy -
1. 3BT

2. RHIUY
3. SHRUNY

4. STHROMY

Correct Answer :-

2) Tgfa &1 faei <reg R R?
1. S
2. TR

3. bR
4. e

Correct Answer :-

3) fe fasedl § & et g+l &1 gTd BIorg?
1. TRIGET
2. fTURRem
3. TRt

4. Y&
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Correct Answer :-

. Tde

4) g9 "o for@r A = A 9 fra R ST 9@ 32
1. SRS die’]

2. TqYarS a1

3. Hdbadrdd dR

4. YIRS IR

Correct Answer :-

. FeyarEs oo

5) <3fTaT Ueag @ Fffa T 8 -
1. 3fTaGH

2. T

3. SATATITEA

4. Y@TaT

Correct Answer :-

6) ‘§gg ¥ UG UgH WRIT H Hi- T SAHR 872
1. SUHT 3[TDR

2. YD ADR

3. TAY B R

4. 3UY 3ADPR

Correct Answer :-

. BTUD AADR
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3. fde
4. SIS

Correct Answer :-

8) WHSIARR____ 3I'3H a9 & f¥ad WIH § Iugad eg W
1. TiqT S{T=ROT

2. RIGIR

3R

4. 71T GRIERUT

Correct Answer :-

1

10) w1 TS 3 GETaR FT el 3 yebe HeA arar faw ey eI A g?
1. Ui &1 J1d | dTell

2. &S WU BT g

3. foepa fdtoa

4. 9gd 8 WA g1

Correct Answer :-

. foepa s

Topic:- GENERAL ENGLISH
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1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:

Let there be no bad blood between the two royal families.

1. illegitimate children
2. ill feelings
3. difference of opinion

4, villainous souls

Correct Answer :-
« ill feelings

2) A sentence with an underlined word is given below. Choose the correct option which is most similar in
meaning to the underlined word.

News commentator, Sunil Tandon, had to yell to be heard above the hubbub.

1. noise and confusion
2. argument
3. sports activity

4. loud music

Correct Answer :-

¢ noise and confusion

3) Out of the following options, choose the correct form of verb that is in agreement with the subject for the
given sentence:

Either Ramesh or his brother ill and in hospital.
1.is

2. were

3. have been

4. are

Correct Answer :-

4) Out of the following four options, choose the incorrect sentence:
1. Faiz Ahmed was one among the nine precious gems in Akbar's court.

2. A ladies and the gents are keeping their money in purse and wallet, respectively.
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3. Ploughing is done for the aeration of soil and manuring is done for the replenishment of soil.
4, Occupational diseases can be caused by "environmental factors" that are present in the workplace.

Correct Answer :-

« A ladies and the gents are keeping their money in purse and wallet, respectively.

5) Out of the following options, choose the most appropriate tense that best fills in to
complete the given sentence:

Every boy and every girl ___ given a gift.
1. was

2. are

3. were

4, have been

Correct Answer :-

6) Choose the option that correctly sequences the following sentences.

1. But inside the furnaces are humming and hot.

2. The factories rows and rows of them are surrounded by high walls.

3. Here, mountains of industrial garbage, including tones of discarded electronic products, are ripped apart,
smelted and processed daily.

4. Like the dark, satanic mills over the bleak landscape, their gates locked, the hand of industry apparently
stilled.

5. Spread over a radius of 6 km and employing an estimated 12,000 workers, this is a recycling hub at the
Mandoli Industrial Area in east Delhi.

1.24135
2.45231
3.31425
4.13524

Correct Answer :-

7) Choose the appropriate adverb clause from the options to complete the given sentence:

We eat ‘
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1. so as to be living
2. so that to live
3. so that we may live

4, to live

Correct Answer :-
+ so that we may live

8) Complete the sentence choosing the best option:
Her backache is so that she can hardly move.

1. decruciating
2. discruciating
3. exasperating

4, excruciating

Correct Answer :-
« excruciating

Topic:- GENERAL KNOWLEDGE

1) The Electoral Bonds Scheme announced in the Union Budget 2017-18 is intended to: /

FEIY goie 2017-18 ¥ Gt Fate i 9o o1 3834 &

1. Mobilize funds for conducting elections / ITd AT B & fore e NEEI

2. Bring greater transparency in funding of political parties / oA gdl & fod oo & sifdies urRefRiar amn

3. Allow political parties to declare unaccounted funds / TSI Gall Bl ﬁWFfﬁ & TN DA bl &fﬂrlﬁf
CEll

4. Garner funds for implementing electoral reforms / EJfl'lﬁﬁ ﬁ?-lm Dl FI'IT‘LW CANYEIRRCEEIS

Correct Answer :-

« Bring greater transparency in funding of political parties / oI gdl & fod Ao & Sifies uRefRiar am

2) The Automation of Registry of Commercial Taxes Appellate Board was introduced by the MP government in
the year -/

Fiforfsue ®T erfichia 9 1 IR &1 Tare af T A YR IRPR §RT Y= a1 T o1

1. 2011
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2.2013
3.2016

4, 2008

Correct Answer :-

« 2013

3) Easy accessibility services to the Cities of tourists’ interest in MP state are provided by the
air service provider. / THUI 7T ® Ydew! o1 Y are e A M U A9 g TaT YETaT gRT
WS B STt 8

1. Ventura Airconnect / aﬂﬂ TRGAR
2. Indian Airlines / 3fSa7 TR

3. Jet Light / Sic @3¢
4. Jet Airways /9T QTR_aTrT

Correct Answer :-

e Ventura Airconnect / é%m W

4) CANCELLED

Bhawani Prasad Mishra was a from Madhya Pradesh. /

AT yTG fer 7 e 9 U 2f
1. painter / U
2. sitar player / RIdRdcs

3. litterateur / W%W
4. classical singer / 3P ¥ fiapR

Correct Answer :-

« litterateur / W%W

5) CANCELLED

In which region of Madhya Pradesh the folk singing of ‘Phag’ is prevalent? /

IS & fHa &7 & "BRT BT wld T Yferd 22
1. Chambal / d&d
2. Baghelkhand / TUAWUS
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3. Malwa / HIcldl
4. Nimar / ﬁtl'lg

Correct Answer :-

o Nimar/ ﬁtﬂg

6) India’s first atomic reactor was called ./ HIRd DT Gg el GHTY] ﬁw
Dhodl ATl

1. Dhruva / §d
2. Kamini / BTHAT
3. Zerlina / @Rl?’l'_'ll

4, Apsara / AT

Correct Answer :-

o Apsara / &R

7) Name the eminent Indian Scientist who was awarded the prestigious ‘Lal Bahadur Shastri National
Award’ in 2011. /

39 Uff8d Wk dxfe &7 19 9418, forg 2011 & 9faf8ad Te 98TgR M P REPR’ |
FrTfee o T A

1. Dr. A.P.J. Abdul Kalam / €. T.UISl. 3fsgd ey
2. Prof. Yash Pal /Eﬁ. A YT
3. G. Madhavan Nair / ST A1YdT AR

4. CN.R. Rao / Il T 3R 3G

Correct Answer :-

o Prof. Yash Pal /EI-T. g YT

8) In which year was Rajiv Gandhi Khel Ratna Award instituted? / g qi o Ielig M Qe RIPR
wyTfte fasar war

1. 1991-92
2. 1989-90
3. 1997-98

4, 1995-96
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Correct Answer :-

« 1991-92

9) Who was fondly called ‘The Picasso of India’? / f5d @R A YRd &1 UErRIY Dl STl AT?
1. Tyeb Mehta / GRE] Agar

2. Raja Ravi Varma / XISl I anf

3. Jamini Roy /\_J‘IT&I:ﬁ g

4. ML.F. Husain / TH Tth 5@?

Correct Answer :-

« M.F. Husain / @W@

10) in Madhya Pradesh is the connection point between the gas pipelines from Gujarat to
Rajasthan. /

AT | TORTd ¥ ICTRI TF 719 UISUdrs & did SR 9g 8l
1. Vijaipur / ﬁ\_rltﬂ'gﬂ'
2. Bhopal/'l-htﬂﬁ

3, Shahdol / TESIA
4, Gwalior / TGTP(*ITR

Correct Answer :-

« Vijaipur / fasRITqR

Topic:- GENERAL REASONING

1) Find the missing number: / Fjﬁ'\‘i@T d B

2,5,9,19, 37,

1.73
2.78
3.75
4.76

Correct Answer :-

« 75
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2) Find the average. / Gﬁﬂﬁﬁlﬁ oy
86, 88,90, 72,76 & 74

1. 81

2.74

3.90

4, 88

Correct Answer :-

« 81

3) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination: /

2 & 7€ g seRY vd J@Iel BT ST THIT HIGT 2 1 Terd HAreH UgH |

(i) 96ZE45WE75
(i) 962E45WE75
(iii) 96ZE45WE75

(iv) 96ZE45WE75

4, iii

Correct Answer :-

4) There are 17 students in a Hindi class and 30 students in an English class. Find the nhumber of
students who are either in a Hindi class or in an English class, if the two classes meet at different hours
and 8 students are enrolled in both courses. /

& 9 v BT A 17 BT 3R 3T B Uh w1 H 30 D €1 Tl S HEITY ST-3enT Uel uR et € ofv gl
UTSUHhHl & 8 BT AMHIfPhd &, a1 37 B! I HBT J1d B3 St a1 df &) wem A & a1 v sl wam A g1

1. 39
2.37

3.38
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4. 40

Correct Answer :-

5) Which one of the following four addresses is NOT EXACTLY same as the one given
below? /

Frafefed R 1T IR w6l § @ 9 o R v & S guH S e A e TE 22

Citibond Travel (London) Ltd
Freetrade House, Suite 28-29
Lowther Road

Stanmore, HA7 1EP

0116 216 1941

(i) Citibond Travel (London) Ltd
Frretrade House, Suite 28-29
Lowther Road

Stanmore, HA7 1EP

0116 218 1941

(ii) Citibond Travel (London) Ltd
Freetrade House, Suite 28-29
Lowther Road

Stanmore, HA7 1EP

0116 216 1941

(iii) Citibond Travel (London) Ltd
Freetrade House, Suite 28-29
Lowther Road

Stanmore, HA7 1EP

0116 216 1941
(iv) Citibond Travel (London) Ltd

Freetrade House, Suite 28-29

Lowther Road
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Stanmore, HA7 1EP

0116 216 1941

4, iii

Correct Answer :-

6) |fA=2,M=26andZ=52,thenBET=?I€I1%A=2,M=26\’rﬁTZ=52,?ﬁBET=?
1.54
2.44
3.64
4,72

Correct Answer :-

- 54

7) If Ram can do a piece of work in 9 days and Shyam can complete the same work in 6 days, then in how
many days will both of them together complete the work? /

gfe IH PTH & TH T BI 9 feT1 & 3 Aovdr g 3R T IH $1TH FY 6 fe7f A g0 2 Ipar g, al
3 GIHl DI TP 1Y HTH GHIW B | fohd=T IHT T2

32_ days/f 35_ GG
1. 2 3

2. - =
édmf *iﬁﬂ

3 3 3

3 5
3=days/ 3=TeeT

4. 3



Topic:- PEDAGOGY

1) CANCELLED

Which of the following can be taken as an example psychomotor domain in the context of teaching? /

f&rw;ﬁaﬁﬁﬁaﬁr@aﬁﬁaﬁqmwmﬁwaﬁaﬁmﬁasﬁm%wﬁmm
el 27

1. Reciting a poem / T HIddl B1 UTS BT

2. Performing an experiment / T TN ST

3. Computing results of two experiments / S TR o UIR O] bt ERTUHT AT
4. Narrating a story / Uch CIRICRIGI]

Correct Answer :-

 Performing an experiment / Uch TR BT

2) The general term for speech disorder due to brain damage is known as: /
ATeqeH &t & FHTLOT AT ARATHAAT 6 1T STHRT AT ST STAT M58 T THI e
1. Aphasia / STETST &g AT (3TheT)

2. Paresthesia / stqeera=(dertarfarm)

3. Aphonia / aTRag=ar (rwwm)

4, Astasia-abasia / T=aTfRrem-srariEen

Correct Answer :- |

« Aphasia / STATST & BT (3ThHe)

3) A zygote is formed due to: /

TS gAY (9 & sru fAfia giar g:
1. Separation / JYdH U]

2. Fission / fa%e

3. Fusion / eI

4. Division / faHTSH

Correct Answer :-

« Fusion / Idd+
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4) According to psycho-analytic theory, deviant behavior is caused due to: /

IRy Rigid & VR, faafd saeR A9 & R gian &:

1. Repressed desires of the individual / e Dt e & U & BRI

2. Excessive desires of the individual / Ffad &1 i‘:UEBI\Q AR ?ﬁef & PRI
3. The presence of id, ego, and superego / Ugd, &Y 3R gJuR ngT Pl UMY & HROT
4. Active unconscious process / ik 3dd Uiehd & BRI

Correct Answer :-

» Repressed desires of the individual / Of-lqu\rl Pl EEt] % aH- % PR

5) If a child writes 16 as 61 and gets confused between b & d, this is a likely case of: /
91 T 16 DY 61 for@an 8 @R b R a & YfHd g1aT 7, T I8 HHad: SHPT AT 3
1. Learning disability / 3T &l

2. Stress reaction / GaTd i UldfehaT

3. Mental impairment / AR A

4. Physical disability / RIRTNS &

Correct Answer :-

« Learning disability / 3{TSTH 31&Hd

6) Who does NOT belong to the Psychoanalytical School of thought? /
g 9 @ o1 foErR) & FRifaavo w@a & Gafta T @2

1. Jung / EPT

2. Solow / HIdl

3. Freud / WIUS

4. Adler / USSR

Correct Answer :-

« Solow / qrel

7) When Kohlberg’s and Piaget’s theories of moral reasoning were subjected to further research, it was
found that: /

oI Blgatt auT frars & Afae b ufet F Rigial w em i far a, 9« 391 urar ar f:

Page- 14



1. There is no relationship between level of cognitive development and moral reasoning /

I [ABHT & TR qUT Al qohRIad & T Dis I8¢ 75l 6

2. They overestimated children’s moral reasoning capabilities /
36 Tedl DI A dob ad Bt &S BT SHfUgedid fhar|

3. They focused too much attention on children’s actions in a moral situations /
S Ao fRufaat & st ot fopanall W srafdies e B fasar|

4. They underestimated children’s moral reasoning capabilities /

3R Il Bl Afad d e DI &HATSf &1 g SMeha (ol

Correct Answer :-

» They underestimated children’s moral reasoning capabilities /

361 Sedl I A dh Mo 1 SIS &I T SHTHe (b

8) The aim of National Council for Teacher Education is: /

SaTUw Rremr F fore wredty ufvwe &1 =T 3Exa 8:

1. to provide grants to colleges of education. / Qfereh Picrsl bl S{ald Uald pRTl

2. to promote research in teacher education. / SI&TUdH fRreror 7 MY &l Uicaried HrAl
3. to supervise and monitor colleges. / Hicroll BT GYAET0T aUT TR BTl
4. to open a college of education. / QAfereh dlcsl BT

Correct Answer :-

« to promote research in teacher education. / U fRreror o MY 1 Uicaried HrAT

9) The two hemispheres of the brain are connected by a set of nerve fibers called J

AP & &l M, TG P TH A AR IR Fgromng|
1. corpus callosum / AT (Wl'dﬂ ﬁﬂ'ﬁh
2. limbic system/ﬁ'fmﬁlm

3. cerebellum / 31ij€de (@I\Q-G\I('H-I)

4. cerebrum / THIRTSH (@IQ@H—I)

Correct Answer :-

« corpus callosum / TETHAIIHT (HTUT )
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10) Erikson coined the term: /

TR A 39 Ug 31 ufaurfed fovan &:
1. Extravert / Eﬂ%ﬁ
2. Oedipus Complex / STy Hiiad

3. Identity Crisis / Ug << &I e (31I$§|éé| W@lﬂ)
4. Self-fulfilling Prophecy / Tademrif-ad Hfaearoft

Correct Answer :-

« Identity Crisis / UG &1 be (AT afect HIERIT)

11) National Council of Educational Research and Training was established in: /
TP Aféep srgau™ 3R uRreror aivvg 1 R sa 99 4 58:

1. 1960

2. 1962

3. 1961

4, 1963

Correct Answer :-

- 1961

12) Lowest order of Maslow Hierarchy of needs theory is: /

AT & UG H SMa=aDhdl RIGid BT a4 4 &

1. Safety needs / R&T RIIGEBE|IY

2. Esteem needs / THTH I I H A

3. Self-Actualization needs / 3TH-ARATIDH BT AT STH-TY BT 3{TIRGH dId

4. Physiological needs / AR MALIHATY

Correct Answer :-

« Physiological needs / EEICRIGED N IGEEEILY

13) Which of the following is the domain of learning according to Bloom? /

W & IR, Fafafaa o & o ar ifrmy s1 e 82
1. Professional / SATATIH

Page- 16



2. Experimental / TR
3. Social / AT
4. Affective / HIATHD

Correct Answer :-

+ Affective / HIdTHSD

14) Younger children can learn their subject faster if they are: /

BIe T 3 fawg 3t deft I e I&d § afe 37
1. Punished regularly. / Faffa ¥ ¥ <f&qd frar s
2. Disciplined properly. / Fg1 &1 ¥ SRR fardT ST
3. Guided properly. / 31® ¥ MG IR1d fovaT Y|

4. Praised regularly. / O =0 ¥ 7RI fohar S|

Correct Answer :-

« Guided properly. / 31 I MR forar S|

15) Which of the following categories of teachers tend to favour the traditional, formal seating pattern of rows
of students directly facing the teacher at the front of the class room?/

fFrafafaa & 3 et o) o1 @ Joft wen & I 3 iR R1ere 31 RE Y Hd gU STl 31
Uil & URUR®, ATl 969 & aiid & uel # g 32

1. Group discussion / HHg el

2. Direct instruction / Td&f FaT

3. Indirect instruction / SUTE few
4, Student-centered / BE-biad

Correct Answer :-

« Direct instruction / Y& Iﬁé&l

Topic:- ECONOMICS

1) Oligopsony is ./
TP BT g

1. Market of two buyers / &l TIGER] T TNIR

2. None of the above / dqi:idd =k ObIE‘Z:I?T
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3. Market of more than two buyers but limited to few / & ¥ 31 WRIGaR] &1 TNIR Afhd $S aP ol

4. Market of many sellers / 3 Tieg 3 BT CINSIR

Correct Answer :-
« Market of more than two buyers but limited to few / & ¥ 3@ WRIGER] &1 TR Wb S aP ol AN

2) First Human Development Report was published in the year: /
uygal A4 faeg fraié AT ad A yoiiRe &1 18 <&

1.1990

2. 1987

3. 1997

4, 1988

Correct Answer :-

e 1990

3) When goods are consumed or bought in whole number or non fractional units, consumers preferences are
called ./

maﬁaﬁaﬁqﬁﬁ?mﬁww@ﬁw%%mm%mmﬂmm%aﬁw%muﬁmﬂ
Heal gl

1. Cobb- Douglas preferences / PHII-STAH DTH&IWT'E

2. Discrete preferences / WW@W@
3. Non discrete preferences /WDT?-IJ&IWT'Q

4. Quasi linear preferences / % Heud EIT?AIﬁIT:l'TcW'Q

Correct Answer :-

o Discrete preferences / 3ad Ui

4) Long run average cost curve in modern theory is ./

anyfre Rigia § e siwd anrd a% g1 gl
1. U- shaped/U-mW
2. L- shaped/L—\’rﬂTﬁW

3. Vertical shaped / d*dd 3H[hR dI

4. Saucer shaped / HER &b IMBR BT

Correct Answer :-
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 L-shaped/L- H'@I:CTW

5) If the isoquant is L shaped it is known as: /

gfe 3TSH FaI<C L & 3TPR &1 g, 9 39 T & =0 § &1 Sren &:
1. Input- output Isoquant / Jc-3T3cYe MG

2. Activity isoquant / Qﬁﬁ_& &nsﬁaai—\:’

3. Convex Isoquant / Haa G-Il'i‘{-l\ldd\llrd

4. Linear Isoquant /Fﬁﬁ'ﬂ?&ﬂ%@ﬁ?

Correct Answer :-

« Input- output Isoquant / $gc-3M3CYC SMIHGAIT

6) If Spearman’s co-efficient of rank correlation is equal to one, then: /
gfe wiiaeas ST 9vlf Tg-JeY Ul TH & RIER 3, dl:

1. All the ‘total variation’ is ‘explained’ by the regression line / HH¥ 'P T =TT THISRI0 T gRT S Bl

ST §
2. The rankings of the two variables is totally different / 33[ ER)[ P W ﬁ@'_ﬂ o= @?ﬁ %

3. The rankings of the two variables totally agree / a1 =R P Afvrar 110f U I IgHd gt %
4. The rankings of the two variables partially agree / &1 =RI Pt AT siifw a9 TeHd gidl %

Correct Answer :-

« The rankings of the two variables totally agree / 3 R BT AfomT q:Uf U Y JgHd gt %

7) The economist who popularized indifference curve approach is: /
SERAAT 55 TRHTUN & AIBi 9+ Srf=mwat =1+ &

1.J. R. Hicks / 3. 3R, fgod

2. Paul Samuelson / Eﬁﬂﬁw

3. Simon Kuznets / RAH ey

4. Alfred Marshall / 353 HTRidl

Correct Answer :-

. I.R. Hicks /. 3R, fgaq
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Which of the following is described as the change in savings per unit change in income? /
fraferfea 3 9 o oma & ad ufa 5318 & uRkad= & w0 o aftfa fasar man g2

1. Marginal propensity to consume (MPC) / dHid SUHIT Ugfy (THUR)

2. Marginal Propensity to Save (MPS) /Fﬁﬂﬁaﬂﬁﬂqﬁf )QmﬂW(

3. Average propensity to save (APS) / aﬁwaaﬁuqﬁr )QT-ﬁW(

4, Average propensity to consume (APC) / Gﬁﬂﬁ@tﬂ?@ﬁf )W(

Correct Answer :-

» Marginal Propensity to Save (MPS) /Fﬂm'daaauqi%r )Q'qtﬂ@(

9) Which among the following is true with regard to Deadweight loss? /
frafea & & o9 ar smfayfa a1 & ded d awr @2

1. It affects only the consumer surplus and not the producer’s surplus. / %WWWW@UWW% 3R
IdIGD dd bl el

2. It affects only the producers surplus and not the consumers surplus. /9% HId IdTCH gad ﬁqﬁ-ﬂﬁﬁm% 3R

R CRIEEREARRT

3. It affects both the consumer and producer surplus. / ??I_G'B'qlhﬂ?ﬂ FId aUT SATGH TId Gl Bl UHIAd W%|

4. It does not affect the government revenue. / %Wwaﬁuwﬁﬁ WW%I

Correct Answer :-

o |t affects both the consumer and producer surplus. / u‘a:wmh?ﬂ dod dYT IdIqh ddd a #I’ﬁuwﬁam%ﬂ

10) Which among the following is NOT an adverse environmental effects of faulty utilization of water sources? /
oI Wil & Iugad SUANT &1 Aeferad A | @1 faudia wafaroiy yyma T8 82

1. Adverse environmental effects of big dam /EK;} giel & fausta wafavuita gy

2. Salinity / <IdUIdl

3. Destruction of Habitat /wﬁﬁﬁa’mmwm

4. Subsidence of land due to excessive depillaring / 3If=RT faRH= & HROT YT BT SfadAT

Correct Answer :-
+ Subsidence of land due to excessive depillaring / 3= fa¥HT & SR YA BT ST

11) Which among the following not a function of RBI? /
fFrefefad & 9 @9 91 o1 SRS &1 g1 82
1. Bank of issue / I UATAD S
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2. Bankers bank / S &1 Seb
3. Controls the foreign exchange rates / faczft fafa <=t &1 =
4. Banker to the government / IRHR BT B

Correct Answer :-

« Controls the foreign exchange rates / faeeft fafia <=t &1 =

12) which among the following is not an objective of tax reforms in India post 1990s? /
frferfaa & F &9 91 R W 1990 & RIS & 18, HR JURI T TH 324 ol 82
1. Customs duty to be reduced to increase exports / fyata o ?1'@ & forg e e T I BT

2. Shift from over dependence on indirect taxes to direct taxes / UIE B0 TR 3f FAURaT T ger o= iR HyRar &t
3R RIFIaRl

3. Shift from over dependence on direct tax to Indirect tax / Y& P UR 3ffd FRar I e w3 iR fAvRar &Y iR
RYTIRUT

4. Accelerating economic growth with stability / RTRIE & 1Y TRuRNE Hﬁ%g@

Correct Answer :-

« Shift from over dependence on direct tax to Indirect tax / T Rl WR 3ffd AR F siye i R RRar &1 8l

13) Which among the following is not form of foreign investment? /
Frafetea § & @i a1 fowea fag=it e o1 siftReu =81 82
1. Foreign direct Investment /W&fﬁ%ﬁﬁﬁa’-‘ﬂ

2. Inter commercial loans / 3fcl: QOIS F0T

3. External commercial borrowing / STel AU ® SR

4. Inter- Governmental loans / 3{dl: RGBT

Correct Answer :-
« Inter commercial loans / 3id: QIO 50T

14) Which among the following is not an example of shift factor in respect of price-demand relationship? /
fFrafefaa & @ o a1 e gea-ai J9y & Jgof # Rive aer 1t Iareur 78 82

1. Decrease in demand for Samsung mobile phone because of the increase in price from Rs.7000 to Rs.7500. / @TFFT Iﬁ’@ﬂsﬂ
& 7 H 7000%. ¥ 7500%. b dls G & HRU SHD! HRT H HHI

2. Increase in demand for Luxury cars of BMW after a person wins a lottery / fopt safad & el St @Wﬂ'ﬁ
T BRI B A A
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3. Increase in demand for tea because of the increase in price of coffee / I %H\Fq o q@%ﬁmmaﬁﬂmﬁ Q@

4. Drop in demand for cars due to the increase in Petrol prices / ug\m & Hed §leH Y HRI B A H fR1ge

Correct Answer :-

» Decrease in demand for Samsung mobile phone because of the increase in price from Rs.7000 to Rs.7500. / AT

TEEd & e | 7000%. ¥ 7500%. % Gl 8 & BRI IUD!T T H HH!

15) Which among the factors mentioned below will cause changes in dynamic equilibrium? /
frafafaa A Swifed FRe! A @ S A1 $RS Tfaia T & 96ard &1 SR 2
1. Price and Income only / WH@ 3R ema

2. Price, Income, Technology and Output / Hel, 31, TRNfIe! qu 3{I3cyc

3. Technology and output only / PHad W GhT 3f13cYc

4, None of the above /Tﬂ"jﬁ?‘fﬁ ﬁaﬁ's‘:@

Correct Answer :-

* Price, Income, Technology and Output / H{cd, 3119, TIRNIDT quT 3f 3cyc

16) The first person who made use of a combination of census of output and census of income methods for estimating
national income in the pre-independence period in India: /

e o A [ safes A Tae=rar A gd Iedig 3 & S & I Sr8eye Y HIvMHET auT 3 Usfaal B
IO & Garer BT IUART fobam AT

1. Findlay Shirras /ﬁﬁam
2. William Digby / faferad fewat
3. R. C. Desai / 3R 4T, GUTS

4. V. K.RV. Rao / 1. 3R 1. @

Correct Answer :-
« V.K.RV.Rao /dl.%.3R.dl. 3@

17) Given the price of two goods, if an increase in consumers income leaves the consumers demand for a commodity
unaffected, the commodity in question is a: /

e &) axg3i & Heu 3 gU &, 3R I SuHiaar Y oy # gfg A Susiiean Bt avg & for AivT srmvfa et
2, AU A P ag o

1. Luxury good / ﬁ'@-ﬁﬁ?ﬂﬁ ad

2. Inferior good / 3{UP T d¥]
3. None of the above / B'CREI?R‘I 7y aﬁé T8l
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4. Basic necessity / HAHd TdYhdl

Correct Answer :-

« Basic necessity / HEHd TARYD AT

18) The unemployment rates by levels of education are highest among: /
g & wRY & Trte FreT & T RIS &R I &

1. literate up to primary / MYH& db fRféra

2. secondary/m‘?ﬂm

3. graduate and above /W@mw

4. higher secondary / Ik TS

Correct Answer :-

o graduate and above / ¥Idd qa i‘:i-l@l DHU

19) Which of the following is the most economical source of power? /

fFr=fafae o @ o a1 fagga wia waifie awarg?
1. Hydel / STfdggd

2. Solar / R

3. Thermal / S8

4. Nuclear / AT

Correct Answer :-

« Hydel / STafdggd

20) Demand curve under demonstration effect is: /

TSR YUTd & Siald il asp = gl 3:
1. Upward sloping/Wﬁ 3R gqal

2. Horizontal / f?rm

3. Downward sloping / I BT 3R gadi

4, None of the above /Wﬁ@ﬂﬁgqﬁ

Correct Answer :-

« Upward sloping / SR B 3R gl
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21) Entrepreneurial skills are: /

ST P &:

1. Variable in the long run / 2t Bra # uiad-ra

2. Variable in the short and long run / STDTd U7 SHHId | uRad-g
3. Fixed in the short run / 3fedeTa H fRR

4, Fixed in the long and short run / Eﬁ%ﬁf TUT 3cUhTd H fRR

Correct Answer :-

« Fixed in the long and short run / SrfpTal 9UT 3T & RR

22) Consider the national annual plans and choose the incorrect answer. /
TP qiffes Terrelf IR TR o 37 Tad SR g |
1. Three consecutive centre annual plans came after third plan. /
I FRER Fta e AT, Jof TiorT 3 o1 311 |
2. Three consecutive annual plans correspond to the years 1966-69. /

aH FARER arffes Ao, o 1966-69 A Tdfd &

3. The weak financial situation and low morale after defeat by china led to plan holiday in the form of annual
plans. /

T gRIER & 91 HHuIR fooiy fRUT 81k o8 T-igd & gRume ¥ a1 qiem13i & =0 & dio1 faH
I

4. Constitutional crisis was other main reason for the plan holiday. /

G Tehe, TISTT fORT T 370 JRe HIRUT 4T

Correct Answer :-

« Constitutional crisis was other main reason for the plan holiday. /

Gaenfe Tehe, TIoTT faRTH T 30 qe HIRUT 47|

23) Green box, amber box etc. are related to which of the following? /
W afew, TR ST 3Tfe FRafareT o @ frad waita g2

1. UNCTAD / SHTUR Td faeh T TR TGk 1Y TR (JUTSiiciua)

2. UNFCCC / gt 1§ STdarg URadH See (quuwmieie)

3. WTO / fa% SR 16 (Sl

4.GATT /T
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Correct Answer :-

. WO / fa% IR W16 (Ssgcia)

24) The first official attempt to calculate National Income of India in 1949 was made by National Income
Committee that was headed by .

1949 H HR P1 AT 3T B MU S DT UYH MIUBTRS YA, T 317 AiAfd gRT far man
T, forrent aremaren gk

1. Dadabhai Naoroji / & allﬂéw

2. Sardar Vallabhbhai Patel / TRGIR <1|c'('1‘1-['1—|1'5C U

3. P.C. Mahalanobis / U1 &1, ﬂgl?l:hm

4. V.K.RV. Rao / A& 3R Y9

Correct Answer :-

« P.C. Mahalanobis / 01T, tl?'l?l’*ﬁﬁg

25) Which among the following is NOT a reason mentioned by the eminent agriculture scientist - Dr. M.S.
Swaminathan for the massive success of the Green Revolution in Punjab in the mid sixties? /

T HY a3, ST TH.TH. WHIFIYE gRT 9164 o=1% & 79 ¥ vord A gRa wifa &) Seved Iwadr &
fore fFr=fefad # A 5 wRU &1 Iwag T8t far T 41?

1. Rural communication and electrification / ATHIOT TaR qUT fdggcieur
2. Owner cultivation resulting in long-term stake in land / T aTel Wdt & gRomHT @ﬁmwm
3. A dynamic agricultural university / Tfeeg ?ﬁf fayfaee™

4. An effective Panchayati Raj system / THTa! Tl IS AT

Correct Answer :-
« An effective Panchayati Raj system / UHTd! UaITgc! ISl SqayT

26) An incident when low / zero interest rates fail to stimulate consumer spending and monetary policy becomes
ineffective is known as: /

TS U1 g8 HEaldl & 9d HH/RRI TS 63 STHIFIT WD B MedTied B3 & fawa g1 wirdt € ofik wifgs ifa

1. None of the above / E'Cﬂiaﬁ kS aﬁ's‘ T8l
2. Liquidity Trap / dR<IdT ST
3. Liquidity Gap / <R¢ld g

4. Liquidity Risk / dR@dT SIIRGH
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Correct Answer :-

 Liquidity Trap / dXeIdl STl

27) Which of the following is NOT the direct advantage of FDI in Multi-Brand Retail? /
aedt s Rea W wwtans &1 et ary fFafafaa § @ o= ar =g 82

1. Small and medium enterprises will have a bigger market, along with better technology and branding / a_e!?IT PIEIRCAREIRS
SIS & T B SR AT I FT U 53T ISR GHTT

2. It will be creating more employment opportunities / Jg 3P ISR & 3R I BT

3. It will help increase the Forex reserve of the country / m <91 & faczh Hal HeR | f{@ EﬂTﬁ

4. It will cut intermediaries between farmers and the retailers thereby helping them get more money for their produce / g

foraml 3R a1 fagharall & o Headl & geThr I IdIG & fofg I i T uH H Heg S|

Correct Answer :-

o It will help increase the Forex reserve of the country / TN < & e el USR | Q@ grft

28) Which of following is the difference between value at market prices and value at factor cost for a national
income aggregate? /

TP 31T AT & 1T RS T R 91 SR T6R Jd R 7F $ 99 $fe Fafafea A S s arg?
1. Value of indirect taxes net of subsidies / FoHSI o SUE BRI DI & HIT

2. Value of consumption of fixed capital / I | Ujrﬁ DI WU BT HH

3. Value of net factor income earned abroad / fac=1 & Sffofd Re& PRSP Y DpT HIT

4. Value of subsidies net of direct taxcs / T DRI bl T{[@lﬁ DT Yex HIT

Correct Answer :-

« Value of indirect taxes net of subsidies / AfodS! & STUIE A BT R HIH

29) GDI is applied to measure the: /

SiStens e o1 ATg & 1w vga i &:

1. Level of poverty / fefar &1 &R

2. Gender disparities / foitT smemikd Hgvra

3. Inequality in the income distribution / 30 & fdaRUT & AT
4. Social development / JTHIST faehTe

Correct Answer :-

« Gender disparities / feRT 3menf¥d Hgu@
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30) Under which agreement of WTO, the intellectual property is related to? /
WTO & a1 qusiid & ded, difg® Juer fFu o § fraa Jafta 82

1. MFA

2. TRIM

3. TRIPS

4. GATS

Correct Answer :-

« TRIPS

31) Under MGNREGA who selects the Social Audit Committee? /
HAWT & A5, ATHIID AGTIIEI0T ARATT BT T DI Bl 872
1. Gram Vikas Department / 19 fa& Ry [y

2. Panchayats / UdIdd

3. Gram Sabha / 9TH 4T

4. Nyaya Panchayat / <0719 UITId

Correct Answer :-

o Gram Sabha / UTH JHT

32) A consumer’s demand curve can be obtained from: /
YT BT 7T 955 11 | YTt fovan i1 wepart 3

1. Price- consumption curve / He-9Ud deh

2. Engels curve / ol dsh

3. Supply curve / qi%faw

4. Income-consumption curve / 3I-JUd d¢h

Correct Answer :-

+ Price- consumption curve / Hed-dUd deh

33) Who wrote the ‘General Theory of Employment, Interest and Money’? /

RISATR, ST 3R Y1 ('SR AR} 3T SWTade, Savee Us HHY) fram ferar Ut
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1. Ragner Nurkse / WOoR AHY
2. Lionel Robbins / ferael e

3.1 M. Keynes/@[.@. P
4. Alfred Marshall / 3[hg ARG

Correct Answer :-

« J. M. Keynes / @[QT[ AR

34) When two kinds of money are in circulation, the problem before government is to keep them
simultaneously in circulation, this problem is explained in which of the following theory? /

o9 &1 9% B! ET¢ FIo A giel €, O TRPR P T JHHT 8 gt & fp 3= 7 3 v 9y 3an
WY, I 99T A o O forw Rrgia A g8 78 82

1. Gresham’s Law / IR & Ao o

2. Marshall’s Analysis / R & fageyor
3. Leontief’s Model / fef3fic® & digd o

4. Say’s Law / AP FHaad

Correct Answer :-

« Gresham’s Law / X9 & Aga o

35) Depreciation means: / SIAH I BT e erd @T‘IT %:

1. Closure of a plant due to labour trouble / STHeh THWT & HRU 4T DI §a]

2. Closure of a plant due to lockout / ATITeG ] & RN HIH P dat

3. Loss of equipment over time due to wear and tear / iR T & Hior Iueun & 89 arar RCRSIE]

4. Destruction of a plant in a fire accident / 3T T & HRU I ﬁfﬁe[ CINIRSES]

Correct Answer :-

» Loss of equipment over time due to wear and tear / FuiRa T7g & HiaR Iueui & B arer RCRSIE!

36) Seigniorage could lead to WASIR ﬁmm-a?n's‘ (ﬁlﬁ"ﬂﬁﬁ) &
ST HEETIE

1. Import profits / ST <TH
2. Decrease in aggregate demand / <l i A HHl

3. Hyperinflation / (&R
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4. Appreciation of currency / &I b1 \3‘@11?5!:[

Correct Answer :-

« Hyperinflation / 3ITAEERBIT

37) HDI is developed by: /

TISems A & gRI faeRa F1 1 8

1. Michele B. McAlpin / i@ of. dwaifem

2. Morris D Morris / AIRY ST ARG

3. Mehboob Ul-Huq / Hggd 3d-gP

4. Montek Singh Ahluwalia / Aice Rig srgqartern

Correct Answer :-

» Mehboob Ul-Huq / Hggd 3d-gh

38) The theory of distribution deals with: /

fooror 1 Rrgia ey & dey v o

1. None of the above /B'El?iﬂﬁ 7Y a%’lé 7'|€[

2. Personal distribution of income / 31T &1 il R0l

3, Functional distribution of income / 31Td T USRI =0T
4, Sectoral distribution of income / 3T hI ey faaur

Correct Answer :-

« Functional distribution of income / 3T DT W faazor

39) The inequality of income can be measured by using : /

3T B AT FT ATY 15 HT START HRS (AT oI HH T &:
1. Lorenz Curve / ARG 9%

2. Standard deviation / HTFe fdelc

3. Mean / HI¥]

4. Mean deviation / AT% fage

Correct Answer :-

¢ Lorenz Curve /?IT’Q'G{W

Page- 29



40) The optimum tariff is the tariff which: /

Sted [P 98 [P gidl & Sl:
1. Minimizes imports / S{TTA ol YAdH pXdl g

2. Maximizes country’s foreign trade / <R o fACRl IR P Seaad A T Wm%

3. Maximizes country’s welfare /a'-‘ZT &1 HfUHTH BTl Hdl %

4, Maximizes the earnings from tariff / R[ch B dTell 3 B I=aad HHT deb dgIarl g

Correct Answer :-

. Maximizes country’s welfare / G2 &7 3B dH HeI0] BT §

41) The phenomenon wherein which the individuals try to save more during recession which ultimately
leads to a fall in aggregate demand and thereby a fall in economic growth is known as Wi

9% geT forads dga aafa wdl & SR it aad B3 3t BRI Ha 3 Porad SRor siaa: ga a7
A fiRTae 81l § ok 5U% waaw=u fde fae A fRmae &1 HETSAT |

1. Ricardian equivalence / ReTfea geadr

2. Arbitrage / W (\}ﬂﬁaﬁ)

3. Pigou effect / tﬁ‘lﬁ‘”ﬁ

4. Paradox of thrift / S<Id T faRIUTH (aﬂg}f’a;ﬂ 3% @WE)

Correct Answer :-

« Paradox of thrift / S &1 fORIUTHIY (ORTSI 31Tt fve)

42) The law of Equi-Marginal utility refers to: /

- i SuaiRrr @1 Rieia =1 o) deftfa weare:

1. None of these / 37113[ 1}[ ﬁ‘s‘ '_'lg)f

2. Marginal utility of commodity X / d¥d X P THId ST

3. Marginal utility of commodity Y /d¥J Y P THIT ST

4, Marginal utility per rupee spent in X and Y commodities / X ¥d Y aﬂ\’rh T o0 &l Tl—sc gfd ST i

Correct Answer :-

« Marginal utility per rupee spent in X and Y commodities / X Td Y _Oﬂﬂ&ﬁ T g o Tl_aF gfd Suar Wi
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43) The liquidity trap occurs when: / AT ST 99 S 8idl @ oIa:

1. the demand for money is perfectly interest inelastic. / Jg&T H] @ e I ST 3fdTd it o |

2. the demand for money is perfectly interest elastic. / HxI AT U;ﬁ ave I 1 A @T‘ﬂ %I

3. an increase in the money supply leads to an increase in the interest rate. / &I Eﬁﬁ qf@ J e R I q@ _E?I_Cﬁ

gl

4. an increase in money supply leads to a fall in the interest rate. / &I Ufcf i qﬂ& I &1l &} § fIRTae ot ]

Correct Answer :-

« the demand for money is perfectly interest elastic. / I T qg"f Re Y S A gldl %I

44) The comparative costs theory of international trade was propounded by: /
SR ATIR HT JAATHD ARTd Rigid =1 & GRT IRgd far T 4T
1.J.S. Mill / 9.0, faret

2.7.B. Say /SL&L ¥

3. David Ricardo / Sfa8 Repraf

4. Adam Smith / TSH f¥1Y

Correct Answer :-

. David Ricardo / Sfdg |§$I€i

45) A budget deficit is likely to: /

g9e U1eT R A & 819 31 HH1a= gl &:

1. Lead to less import spending / 3TTd TR 81 aTd! Tl § HH I §
2. Leads to more unemployment / 3{feeh RIS IO gl 8

3. Lead to falling prices / Hedl & FR1ac gidl g

4. Boost aggregate demand / ATHfe® Wi H gfG gl 8

Correct Answer :-

« Boost aggregate demand / IT[g® AT H gfG Bl §

46) A monopoly firm can make losses if: / WFW B B E’Iﬁ 33f dbdt % qﬁ:
1. It charges socially optimal price / dg SIS ¥U ¥ $5¢aq HY TSl Hal %
2. It charges high price / T8 3T Jed TTS! HRA! &
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3. It charges monopoly price / g WW HoY EISEZGI] %

4. Tt charges moderate price / g HHH Hcd TSl BT &

Correct Answer :-

« It charges socially optimal price / T8 JTHISH 70 ¥ SSCTH T Tl Hall §
47) Total product will be maximum when: / P& SUlg IdH 'EﬁTIT old:

1. A P is maximum / %WW@W

2. M P is negative / JIHId 3TG BUTHD BITT
3. M P is zero / HiHId 3G Q]fqa"'ﬂ
4. M P is maximum / HId SUTG Gﬁlﬂﬁa"ﬂ

Correct Answer :-

« MP is zero / HiHId IMTG QEI@TH

48) Total utility will be maximum when marginal utility is: /

A SUEIRIGT a9 S&Idd I, Sd AHid SUAIREr 751 giit:
1. Positive [ YdTHD

2. Zero / ™

3. Negative / TR RIHDP

4, More than one / Udh T 3fdp

Correct Answer :-

49) Utility is: / STARIAT &:

1. A subjective concept / Tdh [CERIR R CEINYI]
2. A moral concept / WW SIIYRUT

3. An objective concept / T aﬁﬁﬂ% S{AYRUM
4. A neutral concept / Tdh IEHH AR

Correct Answer :-

« A subjective concept / U [dWITHD AR
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50) Utility of a commodity means: / ¥ B IUACT BT T’l'l?‘q'{f%

1. None of these / 378 I ®1s g1

2. The excess of satisfaction over the price / Hed & HWR ﬂﬂ@ 3TiereR

3. The price the consumer has to pay / ST GRT R AIGIGH ICRISIEEISI] HoY

4. The want satisfying power of a commodity / d¥q Co| sual-qj%f P D! e

Correct Answer :-

« The want satisfying power of a commodity / d¥ Gl swl-tﬁ R DI fad

51) A scientific hypothesis, such as the influence of increased carbon dioxide emissions since 1945 on global
temperatures, is tested by: /

TS IS UREHT, 9 % Ay auwml iR 1945 9 9¢ §U BTe SISTFITSS SISH1 BT UHTT,
= & g1 W iféra foran wian 3

1. Considering whether the prediction accords with common sense / dg foaR &y f STH OLIIdE;I'I\QOP
§fe & 3R g

2. Checking the predictions of the hypothesis against relevant data / J9% 3¢T & [d%s UR®TTT & Gqu:h Eal
SIEERY

3. Checking out what the majority of experts think / de Udl ¢l h % Siftrepi<r faRivy 1 Iad %

4, Agreeing with the majority view of experts, provided the majority is substantial, e.g. 75% agree with the

hypothesis / TARIR & IgHd & SPBIV A TGHd BId U, TR (b IgHd UAT B, IGIGIN b 1o 75%
RS & TTY JeHd &l

Correct Answer :-

+ Checking the predictions of the hypothesis against relevant data / Id scl o [d9g NG & 31':J_,¢-II'1\I’ Eal

52) What is the slogan of 121 Five Year Plan? / 12??‘ LEC BRI DI ART W%?

1. “Rapid Employment Generation and Inclusive Growth” / "d RERUSHIE SNE! 3R ARl fasrar
2. “Faster, Sustainable and More Inclusive Growth"/ "?IGT, Jdd SR 31fdre grTaRh faer”

3. “Employment Generation and Sustainable Development" / "ISHTR ol 3R gddq fqorar

4, “Inclusive and Sustainable Growth" / "FHIARf 3R H(_‘I?'[faW"

Correct Answer :-

« “Faster, Sustainable and More Inclusive Growth"/ "%I\_rf, Jad 3R 31 Frah faery”
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53) What is the Inflation? /

qeTapifa o1 32

1. Reduces the prices of goods and services / a¥g3il Tad Jarsfi o gl § wHl
2. Reduces the cost of living / STt &1 TN &I HH Bl ?

3. Reduces the price of products / STTGI & e &I HH Bl g

4. Reduces the purchases power of a currency / G &1 54 RMiad P HH HRall ?

Correct Answer :-

« Reduces the purchases power of a currency / &1 & 54 fad &I HH Bt 7
54) What is meant by fiduciary issue? /

TR ET A T Haad 82

1. Paper standard / BTN AFS (TR ¥S9)

2. Issue of currencies / Hﬁﬁh T SIRT gFﬂ

3. Gold standard / TUf & AF® (s TSS)

4. Silver standard / T5Td & A (Redk L Te)

Correct Answer :-

« Paper standard / BT AF® (TR Lee)

55) Normally when price per unit of time falls: / HIHIRI U ¥ o9 ufd Eﬂﬂ_&; g fRer %, dd:
1. None of these happens / STHAEY PO eI %’

2. Quantity demanded remains constant / HITT P AT FRR gl %

3. Quantity demanded increases / T AR IEIKE] q@ gt %

4, Quantity demanded decreases / HAT Ht HEAT f[ HH Bﬁ?‘ﬂ %

Correct Answer :-

« Quantity demanded increases / HT AR Q@ @T‘ﬁ %

56) National Council of Applied Economic Research (NCAER) was established in the year ./

P SFUgeR ST SrgeuT uRug (TS SIR) $ RITGT 9 Hgs Al
1. 1949

2. 1956

Page- 34



3.1961
4. 1973

Correct Answer :-

» 1956

57) Non- Agricultural Products Market Access is part of which organization? /
TR-PY ITE TR g frd e &1 fewar g2

1. IMF /3RS G I (3ETH)

2. World Bank / 9%y 3%

3. United Nations / Tgad MY
4. WTO / fa% STUR 13 (Seegclan)

Correct Answer :-

« WTO / fo% SUR 118+ (Ssgcian)

58) Which of the options is correct regarding “Tariffs”? /

“YR[EH” AT "SRG & IR T DI AT ooy 9gt 82

1. It increases the quantity of imports. / I8 3Tl &1 HET P 981 o

2. It increases government earnings from tax. / 9g SR®R P PR I A aTelt 3 B aa?r %’I
3. It decreases the domestic price of a product. / g 3dIq &I WW geTd B

4. Tt decreases domestic production. / T8 TR IdTE e § |

Correct Answer :-

« It increases government earnings from tax. / 98 TRBR B B I g1 dTll 31T B! ITd g1

59) Which of the following states The Fisher Equation of Exchange? /
frafafea # @ o9 w1 fdew R o1 fafmg o1 adftewo fAfde swars?
1. MT=PV

2. MY=VP

3. VI=PM

4. PT=MV

Correct Answer :-

Page- 35



60) Which sector contributes the highest share in Gross domestic savings? /
g & A B 91 & Tpa T T9dl § S=aH NG 3T 82

1. Household sector / ‘El?@&??r

2. Government sector / TRPRT &F

3. Private corporate sector / it waRe &

4. Public sector / ATASI-ds &

Correct Answer :-

» Household sector / ‘aiqé'ﬁﬁ

61) Which one of the following characteristics is widely regarded as being an important aspect of
sustainable development? /

fFrefefaa & F o 3 ve faivdr & amus w0 3 wiiE (@) o™ & vgayef usq & Tu d
HI=IaT &) STelt 872

1. Increasing consumption expenditure / Sledl g3 WUd o4

2. Increased levels of saving / al<d & de g Y
3. Intra-generational inequity / @-W sqé@ﬁ
4, Inter-generational equity / W—W %@_cpf

Correct Answer :-

« Inter-generational equity / SER-SRRAA é@ﬁ

62) Field study is related to: /

& Srera fo & Haft &

1. Real life situations / ARdfd® Sita- o1 Ryl &
2. None of the above / G”Cl?j?ﬁ Ay ﬁsc ER

3. Laboratory situations / TINTRIE 1 fRufaai &
4. Experimental situations / WrNTes fRufedl &
Cbrréét Answer v:-

« Real life situations / IRAfdD Siia= &1 (U

Page- 36



63) Production function relates: /
TG e Heftd $edl 5:

1. Wages to profits / Tﬁ@ﬁ DAY
2. Cost to input / ¢ D ER 9

3. Cost to output / <I[Id Ea) 3f3cYc ]

4. Input to output/s_ﬂ?fﬁ 3f13cyc |

Correct Answer :-

 Input to output/gtﬂfﬁ 3f3cYc |

64) Intermediate goods are: /q‘?ﬂa—cﬁﬁﬁ gl &

1. None of the above / dusiom k| Oh\lig Tel
2. Part of GDP / SISIUl T HIT
3. Part of GNP / SIIG-TUT &7 HFT
4, Part ofNNP/W'qDITﬂ'J-H"T

Correct Answer :-

« None of the above / dqgiok‘l ER AR
65) According to the principle of comparative advantage, / - TcHP AH S RIgia & YR,
1. Countries should specialize in the production of goods that they enjoy consuming. /

3 P 3 a3 & e N TARISI S1RIa FH=1 =i forepT SUMhT 9 tRig ¥ & g

2. Countries should specialize in the production of goods for which they have a lower opportunity cost of
production than their trading partners./

RN Pl B a3 & IcdTe H [ARIu=Iar gTRIA o=t 91fey, FoRTes foft 35 S+ aiiRes WISiaR] &t
JoT B STEH BI HH IR ARTd A g

3. Countries should specialize in the production of goods for which they use fewer resources in production than
their trading partners. /

SR DY I IS & IaTe B faRvsiar g1 St arfey, foraes fore @ srom sqmuiives UnfieRT &t ga

T IS T HH I BT ITIRT B o

4, Countries with a comparative advantage in the production of every good need not specialize. /

TR 3B X &b I | JaIHD A1H aTal o= B! fI=INg Pt Sevd ol ol

Correct Answer :-
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» Countries should specialize in the production of goods for which they have a lower opportunity cost of
production than their trading partners./

3 P 3T axgail & IdATe H FARIvwar g1l St =nfe, fores foe 3= 3raw il iRy ot
qoT § SdTe &1 H S(a¥R AT e gl

66) CANCELLED

Which is the odd man out with regard to Cardinal Utility approach? /
TS SUTIAT SPPI0 & Hay & SR I 32

1. Steve Walter / &I dlee

2. W.S. Jevons / S&, UY. SIaRg

3. Carl Menger/mﬁ?\?

4. Alfred Marshall / 3/cbg ARl

Correct Answer :-

« Steve Walter / &9 dleex

67) CANCELLED

R? is the mathematical notation for: / R F & m O Shdaa %:

1. The Co-efficient of Determination / fFI&RUT &I HUW

2. The Co-efficient of Variation / faf¥eld T TUrih

3. Spearman’s Co-efficient of Rank Correlation / W:f T i} g-IdY &I HUW
4. Pearson’s Co-efficient of Correlation / TR &1 Tqg-HdY W

Corroct Ancwer - - v R B

+ The Co-efficient of Determination / &R0 & '{.[UW

68) CANCELLED

The Economist who classified price discrimination as first, second and third degree price discrimination is .M

geadRRel_ F i g Yeura @ wym, fed aur gdia sife & gea Yeura § oo faar
1. J.R.Hicks / 1. 3R, fge

2. A.C.Pigou / T, fORTI3

3. Vilfredo Pareto / fa@ha! tRel

4. John Nash / 19 ==1

Correct Answer :-
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« AC.Pigou/ T O3

69) CANCELLED

Child Marriage Restraint Act was in ./

a1 faarg FRiue siftfaa a9 o urfed g uTl
1. 1923

2, 1919

3.1929

4. 1934

Correct Answer :-

70) CANCELLED

Which of the following is NOT an example of Non-Banking Financial Company? /
frfefea & & o a1 iR sfé fawia susit &1 3emvu 731 82

1. Insurance companies / STHT SUf-df

2. Equipment leasing companies / 3Uh U] Eﬂﬁm SHufar

3. Hire purchase leasing companies /W-WWWW

4. Investment companies / o= dufaai

Correct Answer :-

« Insurance companies / ST dHU-d!

71) CANCELLED

Which of the following is NOT a classification of capital market? /
frefefaa o & o1 a1 Yol IR &1 Jaffeor 78 82

1. Cooperative banks /Wﬁ%

2. Industrial securities markets / eﬁ?ﬂfﬁauﬁr{ﬁfw

3. Gilt edged markets / fiTee TS IR

4. Non-banking financial companies /ﬁ?ﬁ%ﬂﬁ?ﬁuwﬁm

Correct Answer :-

o Cooperative banks /W%
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72) CANCELLED

Which among the following is not a cause of famine in India? /
frafofead & & 19 91 URA H 3T ST SR 5] 82

1. Under development of Banking / S 1 3rcufder™

2. The destruction of Indian Handicrafts / YR Eﬁﬁﬁq DI A Eﬂ:ﬂ

3. The new land system created by the British / 3Tl gRI fAfifa -Tsc 'ﬁ[&f PIK]]
4, The Impact of colonial rule /WWWUW

Correct Answer :-
« Under development of Banking / SfdsT &7 3ieafdenT
73) CANCELLED

According to IS-LM, an increase in government purchases will lead to an increase in output
by .

IS-LM & 319R, WHRI Tlg H i d ERT IcuTe o gi gl

1 AG/MNMPS

, AGxMPC/(1-MPC)

AGH(1-MPS)

AG x MPS/{1-MPS)

Correct Answer :-
AGMPS
74) CANCELLED
When comparing r? of two regression models, the models should have the same: /
< guTauT fRgR & 12 B g HRa w9, =it § e &1 99 g v §:
1. Error term / 3fC-Uq
2. Beta coefficients / ST Ui

3.Y variables / Y TR

4. X variables / X T
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Correct Answer -

o Y variables / Y dX

75) CANCELLED

Which of following is not the instrument of the derivative market? /
fFrafafaa A 9 &1 91 gag IoR (Sfvafea widbe) &1 a1ea 78 872
1. Forwards / WTTJ%F

2. Options/ fawe

3. Futures/ tﬂ,ﬁlﬁ
4. Debentures / TSR

Correct Answer :-

. Debentures/%a'ﬂq

76) CANCELLED

Laspeyres index is used in the creation of which of the following measures? /

AR JEFi® o1 IuanT fFaferfad & ¥ fw ufvwmr & fFafor § far sirar 32
1. Exchange rate / [a-HT &R

2. GNP / &b P IdTE (ST

3. CPI / SUHIGT & 1Hd JABIP (HTUTSTS)
4. GDP deflator / SITSIUT SUTBIIH RSB

Correct Answer :-

. CPI/ UM P JaAHID (JTISE)

77) CANCELLED

The theory of reciprocal demand in the field of international trade is propounded by: /
SRS SR & &7 § uReRe 9 &1 Ricgia 9 gy uege fsar mar

1. Mill / foret

2. Haberler / %ﬁﬁ?

3. Marshall / FTRidl

4. Ricardo / R 3'

Correct Answer :-
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78) CANCELLED

The monopolistic firm will be in equilibrium when: /
THIIeR B - o fRufa & g 9 gift:

1. None of the above / G'El'é_ol?‘l "7y ﬁ_ﬁc :IEﬁ

2. MR=MC / MR=MC

3. MR=Price / MR=Hcq

4, P=MC/P=MC

Correct Answer :-

« MR=MC/MR=MC

79) CANCELLED

The term Abbreviated New Drug Applications (ANDAs) is associated with which of the following
institution? /

& U 4T §1 UfRISG T (ANDAs) TTsg, Haferiad & & ford I 3 J8T 5o 82
1. IMF / STeRRTST GET HIY (STSTHTE)

2. WTO / fa% SITUR 16 (Seegcleln

3. US Food and Drug Administration / 3THRe! Tl Td 3NWfY U=

4. Food and Agriculture organization / @I 3R BN JTS

Correct Answer :-

 US Food and Drug Administration / WW@ SNSfe U=

80) CANCELLED

Which problem is sought to be detected with the help of D-W statistic? /
D-W 3ihg B Tl & ford THRAT ST Ul ST STl 82

1. Multi-collinearity / ﬁ-ﬂﬁf@w

2. Auto correlation / Td: TgIEY

3. Heteroscedasticity / favgfa=nferar

4, Specification error / fafrcwr “a’f?
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Correct Answer :-

« Auto correlation / Td: T
81) CANCELLED

Advocate of the Loanable fund theory of interest is: /

=TS $1 BT Ay A Rigid & a@ta R 8
1. Paul Samuelson / UTd @TQQ?\EFT
2. Lionel Robbins / Toraet o=

3. A. H. Hansen / T.Ud, %T\EFT
4, J. M. Keynes / @TQI[ Cags|

Correct Answer :-

« A.H. Hansen /TQ.Ud, %T\EFT

82) CANCELLED

Who among the following has authored the book ‘The Economic Consequences of the Peace’? /
Frafafed @ feea ifa & snffe uikem @ semite Sif-edad sife ¢ ¥y grae fordt 82
1. John Maynard Keynes / S TS DI

2. Barack Obama / SRT& SISTHT

3. Adam Smith / USH o7y
4. Nelson Mandela / el?\‘:F'[ ﬂé?ﬂ

Correct Answer :-

+ John Maynard Keynes / Sii- TS vy

83) CANCELLED

Price discrimination is possible: /

7o § Aeuma fe fRufa § wva 8:

1. Only under monopoly situation / Had THIUPR YT &

2. Under any market form / fopat oft IR Tweu o

3. Only under perfect competition / dad U;Uf gfereael & Sfdaid

4, Only under monopolistic competition / Had LCAIREARN yfawef & siarfa
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Correct Answer :-

« Only under monopoly situation / %ad THIUPR RUfd &

84) CANCELLED

In an economy the fiscal policy is more effective when: /

T SrfaRiT § Iy i Siftre gyt a9 gl @ & a:

1. None of the above / du{idd oy Ob\I$C el

2. The smaller the induced change in interest rate and larger the responsiveness of investment to that change /
TS &) H U URad HHR STk 39 URadH & o a1 &1 srarees! sarel il o

3. The smaller the induced change in interest rate and smaller the responsiveness of investment to that change /
TSl &R H R IRad HHR SR 39 gRa & o o &1 Sarerde! 4 gl 8

4, The larger the induced change in interest rate and smaller the responsiveness of investment to that change /

7ol &¥ B U uRadH wareT ik 39 uRad= & o (9% &1 slarecel &9 gidl &

Correct Answer :-

« The larger the induced change in interest rate and smaller the responsiveness of investment to that change /

7ol & B IR uRadH ST 3R 39 aRad= & fore (9% &1 Sarecel 8 giat &
85) CANCELLED

In Cobb- Douglas production function elasticity of factor substitution is equal to: /

?a-mmwﬁwmmmmﬁwmﬁﬂ%wﬁ?ﬂ

1.0<es <1

2. one /U
3. infinity / 3fFd

4. zero / Y

Correct Answer :-

o one/Uh

86) CANCELLED

‘Crowding out’ is more likely to occur when /

PIIFST T3S’ DI a9 4 DI 3P U Bleil & oI
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1. the demand for money is interest insensitive and private sector spending is largely interest sensitive. /
o T ST & Ul Srfae=iia g iR ol &% o1 W 1wt 8¢ aeb Wde-=id gl
2. the demand for money is interest sensitive and private sector spending is largely interest insensitive. /
5T HiTT STl & Wi Faa=ite g1 3R 1ol & &1 T HIhi 8¢ e 1ol Sde=id gl |
3. both the demand for money and private sector spending is interest sensitive. /
T T iR Fel A b e A 8 e €
4. both the demand for money and private sector spending is interest insensitive. /
o1 7T SR o &7 & @ a1 g1 erfdeeid g

Correct Answer :-

» the demand for money is interest insensitive and private sector spending is largely interest sensitive. /

ST AT 1S & Ul Srfde-1=ie et 3R foft & 1 T w1 8¢ ae Yaga=ia gl

87) CANCELLED

Super multiplier refers to: / GWI_CF g o1 defifa @ %:

1. Balanced budget multiplier / Hgl?k'l CNERIUED

2. Capital output ratio / E[Trﬁ-gala:i STuld
3. Interaction of multiplier and the Accelerator / J[UI TUT dXH DI URWRSD fobar

4, Reciprocal of the marginal propensity to consume / AT STHRT ‘;@ﬁf P IR

Correct Answer :-
» Interaction of multiplier and the Accelerator / T[UIh YT «dXch DI URWRS fobar
88) CANCELLED

If the supply of loanable funds is highly inelastic, an upward shift of IS curve can be achieved
through .

gfe BT a7 BV BT gfef sreafe areii 8, f SIS 9% &1 SHWR 1 3R fageE
SRT UTwd T oI Tbdr g

1. A reduction in fiscal deficit / ISTH N g1e & Uerd

2. A reduction in interest rate / SITST G H ©CTd
3. An increase in government purchases / WHRI WG A Q'@
4. An increase in tax rate / B & H dis

Correct Answer :-
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» An increase in government purchases / DR TG o q@

89) CANCELLED

Say’s law states that: / I o1 e = srfireaed sran %:

1. None of the above / dl-lglidd Ty Ob\li(; :Iﬁ

2. There is no such thing as a free lunch / ﬁw od @?ﬂ aﬁs‘ Eﬂﬁf '_'|_6°f Eﬁ?‘ﬁ
3. Supply creates its own demand / Qﬁf 3O AT g H%I?f 2G| %

4. Demand creates its own supply / T SO ‘Iﬁ g ﬁﬁlﬂ Pl %

Correct Answer :-

» Supply creates its own demand/&ﬁ ST T W0 {jlr:ﬂd Bl %

90) CANCELLED

India has the largest number of livestock in the world. Which of the following is the highest in number? /
g & vl 3iftr ugel 9t wen yRa § 71 Fafafed § 8 waffie den feast 32
1. Buffalo / 919

2. Sheep / “}3

3. Goat / I

4. Cattle / TaRfT

Correct Answer :-

o Cattle /Ila"\’ﬁ
91) CANCELLED

The term Extended Fund Facility (EFF) is related to which organization? /
fawaTiva s gfayr (STwuw) Tee, frd Tre+ T Hefta 82
1. International Monetary Fund / &mﬁgﬁtrawﬁw

2. Financial Action Task Force / IERIREE Igdl'—f Oblif Y|

3. World Bank / ﬁ%{ e
4. United Nations / Jgard MY

Correct Answer :-

« International Monetary Fund / @Iﬂﬁ@qﬂ?{m
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92) CANCELLED

The 2014 Nobel Prize in Economics was awarded to: /
SR | 2014 FT Algd REBR = HI 7341 Ty o

1. Alvin E. Roth / T 8. 31y

2. Paul Krugman /uid gﬂﬁq

3. Lars Peter Hansen / @9 Ulex %*@H

4. Jean Triole / SIFI E\’)ﬁﬁ

Correct Answer :-

« Jean Triole / SiIF ﬁ;aﬂ?f

93) CANCELLED

The sample variance estimator a2 follows: /
drrer AR TRIAER 7 e ) wie wea 8
1. F- distribution / F-faaRuT

2. Chi-square distribution / mé-aﬁ faazor

3. Normal distribution / MY faaRor

4. t distribution / t fqa=or

Correct Answer :-

« Chi-square distribution / PTa-a faaRUl

94) CANCELLED

The fiscal policy multiplier is larger in the Keynesian IS-LM model if: /
S 1S-LM disa H e vt ifa qures warer giar g, afe:
1. The less interest elastic is the demand for money /
¢ & oTT 1 TS AR (32 gaes) AT 8 §
2. The more interest elastic is the demand for investment goods /
o= axgsit & fore Sifie SO AeR (Zekw saies) A Bkl §
3. The more interest elastic is the demand for money /
¢ % 1T 31fie sTo TR (Feiie o) AT el &
4. LM curve is vertical / LM b $E3TeR BIdl %
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Correct Answer :-

» The more interest elastic is the demand for money /

¢ & 7T 31fRe oIS AR (S Salfes) AT eI @

95) Currently, which one among the following sector has attracted highest FDI inflows into India? /
gdar ¥, frafafed | 9 5 &7 9 WRa § Gaifte Twtens siqais & et faar g2

1. Tron and steel industries / g1 Td Wi SR

2. Tele communication / g IR

3. Food processing / Tl YHHRU]

4. Chemical industries / TIRE ST

Correct Answer :-
« Tele communication / g3 IR

96) Price elasticity of supply for a normal good is ./

AN TP RU i A g dEea__ gt gl
1. Negative / FUMHD

2. Neutral / SGRIF

3. None of the above / UG § & B el

4, Positive / YITHD

Correct Answer :-

o Positive / YITHD

97) Which of the following states has the highest average size of an operational holding in India? /
yRd # Frafafaa o 3 foa v & uRarareTrs TR Ush (TR gifsT) &7 Sy S 3THR 8?2
1. Rajasthan / XTSI

2. Haryana /ghearon

3. Gujarat / T[SIRTd
4. Punjab / UTTd

Correct Answer :-

. Punjab/tiﬁﬂa
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98) Which among the following is NOT a limitation of National Income estimation in India? /
frfafaa o 3 o uRa ® Wit oma & Srwa 3t T T8l 82

1. Non availability of data about the Income of small producers / TTY IAEH! DI 31 & fawg o Gﬂ%;[ P Ul
2. Absence of data on Income distribution / 319 faaRuT ¥ e fdd maﬂ HHIT

3. Absence of estimates on crop acreage | A & 3D I Gafd B! Bl 3HG

4. Un reported illegal income / mf\ué@aﬁ?aﬂﬁ 3

Cofrect A‘nsm‘rér‘:- | |

« Absence of estimates on crop acreage / O & IH I TSTd SMhadl bl 3HT

99) Which among the following states leads in Density of Population according to 2011 census? /
2011 B FHVET F AR, = # | &1 91 35y S9EE g9a § Sproft 82

1. Uttar Pradesh / @R UaST

2. Bihar/ ﬁ%'l'{

3. Kerala / %

4. West Bengal / TiEw S

Correct Answer :-

« Bihar/foER

100) Mark the odd man out with regard to Pure competition: /

[ wlovauf & deo # aerewa ferfgd o:

1. Homogeneous product / FH®U 3dIg

2. Free entry and free exit /Hﬁﬂm GﬁT'ﬂiﬂﬁTﬁ:{

3. Large number of buyers and sellers | TRIGER] auT faohdrsii &t YR Tw@

4. Absence of transportation cost / GRIg AT DI @mﬁ
Correct Answer :-

o Absence of transportation cost / qﬁﬂ%ﬁ NIUGK &Iﬁq@-ﬁ
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